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INSE/N B EGE /GRS 1 Bt a — R 12~GA1ME) ¥ 13,300 ¥ 24,200
NN/ R/ R/ SRR/ 2 BBk — R 2 2~ (2 [m) ¥ 25,300 ¥ 45,540
NN/ R/ R/ SRR/ 3 Bk — & 3a~=(HE2MmE) ¥ 34,100 ¥ 68,200
INSE/N B EGE /R 4 BRla — R 4 2~ (M 2 [[]) ¥42,900 ¥ 85,800
NrHE—EZ R — 2 GEMERANT ) 2 2~ (i 2 [a]) ¥ 30,800 ¥ 55,440
Pz e — 2 (- EEFE 2 Bkt — %) 2 a~<(H2[H) ¥ 30,800 ¥ 55,440
FozhZia —= (B - FH - 3 - 4 #HRla— %) 4 2~ (GH 2 b)) ¥ 51,700 ¥ 103,400
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13:00~14 : 20
14 : 30~15 : 50
16 : 00~17 : 20
17 : 30~18 : 50
19 : 10~20 : 30
20 :40~22 : 00
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